
Вычисление значений 
выражений содержащих 
аркфункции от функции

Домашняя работа. №15.16, 
17.18(1,3) , 18.1(1,3), 18.10(1)

№12.17(2)



Вычислить: 1) tg(arctg    + arctg   );

2) tg(arctg    + arctg   );

3) sin(arcsin     - arccos     );

   4) cos(arcsin     + arcos(-    )).





Решить уравнение



тестирование.
1. tg ( arcсos     ) 1.ctg (arcsin     )

1)     ;  2)    ; 3)    ; 4)     ; 5) 1)       ; 2)           ; 3)         ; 4)       ; 5)  

2. tg(arccos 1+ arcctg 3) 2. cos (arccos 1+ arcsin     )

1) 3;      2)        ; 3)          ; 4)        ;  5)    - 1) -       ; 2)         ; 3) -        ; 4)       ; 5) - 

3. cos ( 2arcsin       ) 3. cos ( 2arcsin        )

1)           ; 2) -           ; 3)          ; 4) -           ; 5) 1)                 ; 2) -           ; 3)           ;4)            ; 5) - 

4. cos ( 2arcsin     ) 4. sin (2 arcsin       )

1)           ; 2)           ; 3)          ; 4)           ; 5) - 1)              ; 2)           ; 3)           ; 4)             ; 5) 

  


